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Activity Sheet 3–1e    Review 5
1. Order Least to Greatest: {–325%, –π, –3½, – 3.14, –3⅔}      2. The fraction ⅞ is between:
 ______________________________   
   A. ⅝ and ¾ ; B. ¾ and ⅞; C. ¾ and 1; D. ⅞ and 1
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3.   2(x  + 1)  = 10    x =__________
4. √ 89       = _____________

5.  186,000,000  = _____________
6. Range of y = –8x + 5 :Domain{–2,–1,0,1,2}  
                               (scientific notation)
7.    2 – (– 3x + 5) – (– x – 9) = _____  Let x = –5         (For #  6.) _____________________

8.   Jose spent $78 on tickets to two events, the first event cost  x  plus 2 dollars and the second event cost $6 less than 3 times first event.   Find x.     x = ________ 


9.        x m    34m      x = ________               10.       x m     12m        x = ________                

                        

                  16 m                                                                  x m

11.  3x  =  13            x = ________                   12.  4x + 6  =    12x + (– 4)       x = ________                     

       17       4                                                                 5                    9
               6x – 2                                                        2 m
13. 2x                   2x         x = ________      
14.            3m                                             9m    
 

      x                       x   Perimeter = 326m                                 Volume =216m3
                                                                                    x m
         2x              2x                

               6x –2                                         Volume = ________     Surface Area = ________  

15.  5.5  is ______%  of 218                                                                                   (Bonus)   

16.  750 is 59% of ___________
17. What number is 98% of  900? _________              

18.  Translation {x–8},{y+6} of point ( 7.5, –5.5): Location ___________  Quadrant: ______

                                                                                                                                           (Bonus)
Determine the proportionally, slope and equation of table (a.).

(a.)  

                                                                  Is table (a) Proportional?          19. ______________

                                                         What is the Slope for table (a)?         20. ______________

                                                  What is the equation for table (a)?    (Bonus) _______________

21. A bag contains 4 blue, 6 red, 2 white, 5 green, and 3 purple marbles. What is the probability of drawing a red marble and a white marble? P(R,W)=?
With replacement of marble_________   : (Bonus) Without replacement of marble ___________
Price(x)    Shipping Costs(y)





2.00                  4 .00


3.50                  7. 00


5.00                10 .00


6.50                13 .00


8.00                16 .00








